INSTRUCTIONS =Gl

>

200 WALL MOUNT [~

MINIMUM DOOR THICKNESS 1-1/8" (29mm)
MAXIMUM DOOR WEIGHT 300 Ibs. (136kg.)

\

www.johnsonhardware.com

e Prepare opening to dimensions shown (or if existing, size door to fit).

e Slide 2006 Wall Mount Brackets onto track and secure with set screws. Adjust brackets to stud locations or where a
solid anchor is assured. Note: Brackets that are closest to ends must be within 8" (203mm) of track edge.

e Horizontal location of track is not critical and is governed by trim thickness, however, Track must be level or door
will not stay in position. Fasten brackets 2-3/8" (60mm) above header.

e Disassemble #12 Guide and fasten base to jamb at floor.
e Insert 2020 Hanger wheels into track with locking levers facing ends of track.

\/\] VW DOOR WIDTH >
| \@‘ MINUS 1-1/4" (32mm) ’/

AN v 14 3 v < > 9 ©
A} — | —— 7
o1 =t ———— =]
I - S ]
2006 BRACKETS CASING/BASEBOARD SHIM b
/ / 1 \ \  SET SCREW _\\
Hemy A
[ ®_| @ | e | @ | ®_] o o'E
2055 2055 N = €
\ o of] ©) (ON© OXOXO Qrso® / :‘ zvg
0 0 O 0 0 O N ~
| ‘ 5 -
R = EIRES
4" (102mm) —s=| | | ~e— 4" (102mm) &L e S
5-3/4" (145mm) —e=— —— — —~=—5-3/4" (145mm) n N
_¥/ — E
1/2"— - < g -
(12.7mm) — | oy \I s ©
N =
i [ | 1-3/8" (35) % T
#12 PANHEAD (zgf;ﬁ:n)m: | . DOOR _ “-CASING © O
X 1-1/4" [32mm] L | £ F T
© I
= 9 o
) T Ao
o -l 080
Y | - (2mm) 8
o
(145mm) | a
S NI == N

L\
( N\ \ 1
2031 DOOR r \_ - BASEBOARD
GUIDE OPTIONS #12 GUIDE

e Drill a 1/2" (12.5mm) diameter hole, 1-1/2" (38mm) deep on centerline of door 5-3/4" (145mm) from each edge of door.
Attach 2021 Door Plate to door with four 1-1/4" (32mm) screws.

e Insert 2021 Door Plate's pivot pin into 2020 Hanger. Lock into place with locking lever

e Reinsert front half of #12 Guide and position so door slides freely. Fasten with two 1-1/8" (29mm) screws.

e Insert 2055 Stops into each end of track. Position door over opening with desired closure and back edge of
door is still in #12 Guide. Tighten 2055 Stop to limit door travel. Open door until door is flush with jamb face
and tighten other 2055 Stop to limit opening travel of door.

e Attach 3/8" X 1-1/4" (9.5mm X 32mm) stop (not included) at edge of header with #6 X 1-1/4" (32mm) flat head screw.
e Adjust 2020 Hanger if necessary.

IN200-WM L.E. JOHNSON PRODUCTS, INC. - 2100 STERLING AVE. - ELKHART, IN USA 46516 - (574) 293-5664 Rev 08/09

Download from Www.Somanuals.com. All Manuals Search And Download.



INSTRUCTIONS

OPTIONAL VALANCE /
www.johnsonhardware.com EXTENDED JAMB INSTRUCTIONS

—-—l DOOR WIDTH MINUS 1" (25.4mm) l——
7 Z N /

\ Y - v v v < < \[_~ v 7 -/
__ O

P

\( / ENLARGED VIEW OF
N v v < v_< P 7 b 7 OPTIONAL VALANCE HINGE
\ \— /
#12 PANHEAD X 2" (51mm)
CASING/BASEBOARD SHIM
° e = [ e 0 e E
n A X >< SE *
° o / OXOXO [[er—o & @:A u«- N@: =
(] %3 K, ©
] ) » E
/ M @_ HEADER] | A 2‘8;
#12 PANHEAD 3/8" X 1-1/4" STOP
X 1-1/4" [32mm] [9.5mm X 32mm]
#6 FLATHEAD
X 1-1/4" [32mm]
2-1/4" (57.2mm)
}\ / TRACK LENGTH
3/4" (19mm) < L
J\: = :\\ ~ B
NN ~O ~ " £
6-1/4" (159mm) SR UGN O S 2-1/4" (57.2mm) 5
~o N ~) :
\\ \\\\ \& _J\’\L %
AN SO \ 3" (76.2mm) L— L | .
SN S ™ 1-3/8" (35mm) *
AN | L DOOR _ B 5
\\\,I)I ~| \/\.I, E
TRACK LENGT 1-1/4" (31.8mm) x
o)
o

PLUS 4-1/2" (1 14%{)] -
=

5/8" (16mm)

—

o

OPTIONAL
DOOR GUIDES

.080

(2mm) | Y

#6 PANHEAD
X 3/4" [19mm]

|———————

| [~ 5/8" (16mm)
|
]
J

IN200-WM L.E. JOHNSON PRODUCTS, INC. - 2100 STERLING AVE. - ELKHART, IN USA 46516 - (574) 293-5664 Rev 8/09

Download from Www.Somanuals.com. All Manuals Search And Download.



Free Manuals Download Website
http://myh66.com
http://usermanuals.us

http://www.somanuals.com

http://www.4manuals.cc

http://www.manual-lib.com

http://www.404manual.com

http://www.luxmanual.com

http://aubethermostatmanual.com

Golf course search by state

http://golfingnear.com

Email search by domain

http://emailbydomain.com

Auto manuals search

http://auto.somanuals.com

TV manuals search

http://tv.somanuals.com



http://myh66.com/
http://usermanuals.us/
http://www.somanuals.com/
http://www.4manuals.cc/
http://www.manual-lib.com/
http://www.404manual.com/
http://www.luxmanual.com/
http://aubethermostatmanual.com/
http://www.golfingnear.com/
http://emailbydomain.com/
http://auto.somanuals.com/
http://tv.somanuals.com/

	IN200WM-----200 WALL MOUNT LAYOUT PAGE1.pdf
	IN200WM-----200 WALL MOUNT LAYOUT PAGE2.pdf

